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‘:}FIRST MID TERM ‘res._' '

-~ - std. MATHS
..'.;;-.:'_Time' 1. 30 Hrs

I Choose the best ; answer
-21 2110 wi-110 ¥ . d)-10

Additive inverse of 7is o -
& b)-1- @m d) 7
3.7.’ (12)x(-9)
© o 108 B) <108 o) 41 d)-1-
1-4/1 “The area of a parallelogram whose base 10rn and he:ght

‘ 7m
R @/ﬂfsqm b) 355qm Ef)17sqm - d) 105qm S
5{‘3 hen the non parallel sides of a trapezlum are equal
- thenitis known as a) a square - .
- b)a rectangle q a para@logram d) an lsosceles trapezlum'

II  Fillinthe blanks., | - .9x1=5
& (-5 (-18) = .. e :
¥ (-25)x0x45%x90 = .. : |

8. The angle between the diagonals of a rhombus is
RS 7 R

4 - Area of 3 trapez:um IS vivii .

10. * The sum of all angles at a pomt it. 36 o,

il
v

LI Say true or false. e '5'?( 1
I (-17) x 10 = 1705 - -
12, (55)—(55)—1 - |

J,g Area of a rhomous = d1 X d2 sq umts

¥4, The corner of the A4 paper has acute angle? |
1e .,F'.Vertscally opp05|te angles . are equal:% "’__J_ . -
IV . Match the followmg o Byl
16. Additive identity .~ .. gg0r o
17.: Parallelogram ST 12004?3~

18. Rhombys . B 147

190 Acute angle - = Sues equal e
20.3_ ,Obtuse angle e ‘bh- sq.unitsf7. ©
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29."

304

4

VI

33..

DA ICH) + 6= [OX- 9+ OXE). S

34.

35.

- is -15. Find
Subtracl:( ~18) from (- 30) : S e
IIelogram whose area and

Answer the fol!owmg
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/- Add the:following 27 ¥
L o0 (D)
nd( 7,,_ and-( _:4 )eq

23 ' Are (=42) x (7@

1
4

roperty
Flnd the pr
The produci

roduct of( 10) X 12 x (- 9)
t of two mtegers IS 135

the other mteger._
xﬁw

. J'

the para
and 23cm respectlvely

hombus whose

Flnd the helght of
_base are. 368 sg.cm’
- Find the. area of ar

~and. 16cm .
um- whose parallel sudes are

Find the area of @ trape2|
rance. ‘hetween them is 15cm

- 24cm and 20cm and the dJS .
of ad]acent angles wrll makel.j

-Which: of the following palr
~alinear pair. 1)89°, 91°% u) 117°, 62°.
One angle of a linear pair is a rlght angle What can

you say about the other angles

From ‘the glven ﬂgure
ﬂnd the mlssmg angle

Mention the property for the- nollowmg equatlons
i) (-45) + (-12) = -57 ii) 0 + (-7245) = -—7245

rr’b(7)+(5)-<5)+(7) : g

The area of a trapezium is 492 sq.cm. If the Iengths of
its parallel sides are 13cm and 28cm. Find its hetght
- Find the value of x° for the followzng |
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If one number

dlagonals are 8crn
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